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  Lesson 19: 2NT Strong Opening 

 Bid Teacher’s Notes  

 

At the end of the lesson Students will be able to:  

1. As Opener, recognise when you have a hand suitable for a 2NT Opening bid                

2. As Responder, recognise and use your bid options after partner opens 2NT i.e. 

to Pass, use Stayman or Transfers, bid onto games in NT or a suit, or use enquiry 

techniques to bid onto small or grand slams in NT or a suit.   

 

Lesson Content: The lesson is in 2 parts.  

Part 1   
Opening 2NT with a balanced hand 20-22 HCP 

Discuss responder’s options– Pass, 3NT, or 4 of major with a 6+ card suit   

3§ – Stayman – Asking Opener for a 4 card major?  

3♦ / 3♥ Transfers to 3♥ /3♠ respectively, Telling Opener Responder holds 5+ cards 
in that major  

 

Play and Score hands 1 - 4  Part 2 

Slam enquiry Methods used by Responder with a strong hand namely, 

  Quantitative 4NT Slam Enquiry Bid   

  4§ Gerber Ace Asking Bid  
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Play and Score hands 5 - 12 

Main Points to Emphasise   

Part 1 

2NT describes your hand and responder generally makes the final decision.  

Responder is in charge – he knows openers hand!  

As with 1NT bids, Stayman and Transfers can be used but with points 
adjustments. Responder can use Transfer bids as a weak take out provided he 
holds a 5+ card major.  

Part 2 

Introduce Quantitative 4NT Quantitative bid by responder and Opener responses. 

Stress the different meaning of 4NT as a Quantitative bid made by responder 
immediately and ONLY after partner opens with a NT bid. 

Explain the partnership HCP count for slam bidding 33+ HCP or 37+ HCP  

So, after partner opens 2NT (20-22 HCP), Responder needs a minimum of 11 HCP  

4NT Quantitative Bid says to opener, ‘if you have maximum HCP for your opening 
bid, bid 6NT, but if you are minimum, Pass’  

  e.g. 22 + 11 = 33 HCP enough for a NT slam   

  If 4NT is bid in round one it MUST be alerted.   

Similarly, if partner opens 1NT (12-14) The bid asks the (12-14 HCP) responder 
needs 19 HCP 

e.g. 14 + 19 = 33 HCP enough for a NT slam 
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Introduce the use of 4§ Gerber to ask for aces when the final contract is NT 

Using 4§ Gerber Ace Asking Bid when NT is the 
contract to play 

Because we are using 4NT as a quantitative bid, when your partnership wants to 
ask for aces when the final contract is to play in NT you need another bid!  

4§ (Gerber) is used if you think the partnership has enough HCP for slam (33+ 
HCP) It is a conventional bid and its only purpose is to check that you are not 
missing 2 Aces.  

Responses to 4§ Gerber ace asking are: 

4♦ - no Aces 

4♥ - 1 Ace 

4♠ - 2 Aces 

4NT - 3 Aces 

Explain the logic of using 4§ (Gerber) when the final contract is to be played in NT 
i.e. it allows responder to ‘bail out’ at the lowest NT contract if he finds the 
partnership is missing 2 aces! 

Introduce Slam Scoring in NT and revise the impact of going down and being 
Doubled X  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Lesson Summary 

• This is the second of two strong 2 Opening bids  

• 2NT – 20-22 HCP and balanced - not game forcing!   

• Responses after 2NT opening, same as after 1NT opening but with 
points adjustment  
  
• After a 2NT Opener, responder can use Stayman and Transfers   

• With 33+ HCP in partnership explore NT Slam using the Quantitative 4NT 
Conventional bid which asks: "Pass if you have minimum HCP, bid 6NT if you are 
maximum”   
 
• 4§ Gerber Conventional bid is used for ace asking when the partnership have 
not found a suit fit and have bid NT later.   

  


